Facit- og pointfordeling problemregning januar 2017.
	
	AEU   Modul 2
	

	Opgave.
	Udregning.
	Resultat.
	Point.

	1.
	4510 + 3693
	=  8203 kr.
	3

	2.
	4510-3342=1168(∙3)
	=  3504 kr.
	3

	3.
	Beregning: 4510-816,31
	=  3693,69 kr.
	4

	4.
	2017-374
	=  år 1643
	3

	5.
	540000-478000
	=  62000
	4

	6.
	62000:478000∙100
	=  13%
	4

	7.
	3,14∙15,4
	=  48,356 m
	4

	8.
	h=6520:186,1706
	= 35 m  
	4

	9.
	768-610
	=  158 cm
	3

	10.
	1684:0,012
	=  140334 mursten
	4

	11.
	3∙110
	=  330 kr.
	4

	12.
	To rette linjer
	=  Se tegning
	5

	13.
	Aflæst og beregnet
	=  Efter 4 ture
	4

	14.
	60:30
	=  2 min.
	4

	15.
	Søjlediagram
	=  Se tegning
	5

	16.
	4550000:260
	=  17500
	4

	17.
	Regulær ottekant 
	=  Se tegning
	6

	18.
	1080:8
	=  135°
	4

	19.
	√10,77²-√4²=√h²
	=  10 m
	4

	20.
	k=80/12 eller k=80∙100/12
	=  6,66 eller 666,67
	4


